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5. Which is faster, light through ice or light through diamond? How can you tell from
the number line?

Are you ready for more?

1. Find a four-digit number using only the digits 0, 1, 2, or 3 where:
the first digit tells you how many zeros are in the number,
the second digit tells you how many ones are in the number,
the third digit tells you how many twos are in the number, and
the fourth digit tells you how many threes are in the number.

The number 2,100 is close, but doesn’t quite work. The first digit is 2, and there are 2
zeros. The second digit is 1, and there is 1 one. The fourth digit is 0, and there are no
threes. But the third digit, which is supposed to count the number of 2’s, is zero.

2. Can you find more than one number like this?

3. How many solutions are there to this problem? Explain or show your reasoning.

◦
◦
◦
◦
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a. Is hours of sunlight a function of days of the year? Explain how you know.

b. For what days of the year is the number of hours of sunlight increasing? For what days of the year
is the number of hours of sunlight decreasing?

c. Which day of the year has the greatest number of hours of sunlight?

(from Unit 5, Lesson 5)
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